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Aufgabe 1

Berechne und kiirze das Ergebnis soweit wie moglich.

a) 312 b) 2:4 ¢)3:3 d) £ :4 ¢) % : 2 fH:3
g) 3:2 b33 i) L3 L2
Aufgabe 2

Berechne und kiirze das Ergebnis soweit wie moglich.

a) 270 7 by X5 ¢) %12 d) 3 :3 e)1:3
£)2:5 g) 5 :2 h) 1 :6 i) 50 7 i) g5 2
Aufgabe 3

Berechne und kiirze das Ergebnis soweit wie moglich.

a) 52 : 8 b) 15 : 11 o211 d)%:4 ¢) 1514
£) 53 : 2 g) 5 1 5 h) ¢ 3 i) 1t 02 3T
Aufgabe 4

Berechne und kiirze das Ergebnis soweit wie moglich.

a) 219 b) 5 : 9 ¢) 15 : 2 d) 3 :2 )19 : 7
)é7 )1—84 h)—17§:5 1)1—16:3 j)%:9

Viel Erfolg!
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